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General Instructions :

(i) This question paper contains three parts A B and C.
(ii)  Part A is compulsory for all candidates.

(iii) Candidates can attempt only one part of the remaining parts
B and C.

(iv) All parts of the questions should be attempted at one place.
A R '

(i) - T& FF-T AT A A E - F, @ AR T

Gi) 9T % @ -oE & fow anar 8

(iii) qﬁaﬂﬁﬂ#@vmaaﬁvﬁ@aﬁémmwm?’/

(iv) &G Jv7 & T 9T & I T & WH T [AET |

PART A
(Accounting for Not-for-Proflt Organisations, Partnership Firms
and Companles)

aT ®
(mwmﬁﬁﬁ,v@ﬁmﬁammﬁﬁ%mﬁ@m)

1. Distinguish between Receipt and Payment Account and Income and
Expenditure Account on the basis of recording of ‘Capital and Revenue’
items. . 1

ST qO ST A T o qvu%wwwsnmqagrm@r%amam@
=g @ ¥ =R gaRa |

2. A and B are partners sharing profits in the ratio of 3 : 2. C was
admitted for 1/6%® share of profit with a minimum guaranteed amount
of ¥ 10,000. At the close of the first financial year the firm earned a
profit of ¥ 54,000. Find out the share of profit Which A, B and C will
get. 1
ﬂﬁmawtﬁﬁﬁm%ﬁwﬁaﬁ?) 2 % 3  fawieg & § 1 ¥
N 1/6 T T 3V F T PR SR T a9 qE A fear W 6 Sue A
1 siy FT-9-%9 T 10,000 B | TE g @ F = H wH 7 T 54,000
I fRom | 3, W 99 W %k O & W Fa & L

3.  Give the meaning of hidden goodwill. 1
TRy (3TTed) a1 ot T |
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4,  Give the meaning of gaining ratio.

Ay I & 9 v |

5. State any two purposes for which securities premium can be utilized. 1
st ffem & B Q1 SRed sy oA fu S8 SwEm § e S oww 2

6. From the following information about a Sports Club, calculate the
amount of Sports Fund that will be shown in its Balance Sheet as on

31.3.2010 : ' ‘ 3

Details Am(%unt
Sports Fund as on 1.4.2009 35,000
Sports Fund Investments , 35,000
Interest on Sports Fund Investments due 6,000
Donations for Sports Fund 11,000
Sports Prizes awarded 18,000
Expenses on Sports events | 5,000

TH Wed T S e {-&t{dl§3132010ﬁ§§%ﬁ9}ﬁfﬁmﬁ?{$ﬁgﬁﬁ
el W My w af @ e SN

= .
1.4.2009 % e ffy 35,000
woge fafy faw 35,000
g iy FRY R = ST 6,000
goge fafy % faw q@ : 11,000
% & fou ye@ fHu T gEm 18,000
Borge Fl & g = 5,000

7. A Ltd. purchased the business of B Ltd. for ¥ 90,000. Payment was
made by issue of Equity shares of ¥ 10 each. What journal entries will
be made when 3
(i)  shares are issued at 20% premium ?
(ii)  shares are issued at 10% discount ? «
% fa. 3 @ fa @1 Zaug T 900001&55‘&&1%?17 | T ¥ 10 TA% & 9uar
3 % e & g R T | o SHo fafEet & smiw S |

() WWWZO%%WWWW?
(i) 79 @ T 10% & 93 W fFRr S ?

67/2/2 S 3 . P.T.O.




8. J Ltd. converted its 1,000, 9% Debentures of ¥ 100 each into Equity
shares of ¥ 10 each. The Debentures were issued at a premiumk of T 10
per Debenture and the Equity shares were issued at a premium of
T 2:50 per share.

Pass necessary journal entr1es in the books of J Ltd. for the above
transactions.

3 . Y e T 100 TRF % 1,000, 9% HOITH H T 1’09@%%%3@
# ofaffe fer | womEl & fRimE 10 S ko & fifEm W fEA T e
qOT T RN @ R T 2:50 SR S ¥ Sfifem W feer T |
INRE oAl & T S L d qEael § oM s wfafesr e |

9. K and P were partners in a firm sharing profits in 4 : 3 ratio. Their
capitals on 1.4.2009 were : K T 80,000 and P X 60,000. The partnership
deed provided as follows :

1) Interest on 'capital and drawings will be allowed and charged
@ 12% p.a. and 10% p.a. respectively. '

) K and P will be entitled to get monthly salary of ¥ 2,000 and
T 3,000 respectwely

The profits for the year ended 31.3.2010 were ¥ 1,00,300. The
drawings of K and P were ¥ 40,000 and X 50,000 respectively.
Interest on K’s drawings was ¥ 2,000 and on P’s drawings ¥ 2,500.

Prepare Profit and Loss Appropnatlon Account of K and P for the
year ended 31.3. 2010 assuming that the cap1tals of the partners were
~ fluctuating.

. da . @ﬁ%ﬂ@ﬂ?%\lﬁmwzl S%ﬁgqmﬁq!dq@lltﬂ’dﬂﬁ

1.4.2009 & o : %a%sooooaenrﬁieoooo m@mmﬁﬁwmw

qr:

6)) qﬁﬁﬁﬂTWﬂTWle%ﬁWlO%HﬁTaﬁfﬁﬁ@m@W
mc—mﬂnl

(i1 %Wﬁq%rwwrfzooowriwcoémmﬁ%aﬁwrﬁ@ﬁl

31.3.2010 & TAT@ §C 9 & faq ®H H @ T 1,00,300 & | F g @ F
ST FAIE T 40,000 T T 50,000 F | F. FH AEO W N T 2,000 T
@ % EUl W &N T 2,500 91 |

q@aﬂﬁﬁaﬁwﬁaﬁwﬁamﬁ@mazowﬁm@aﬁf%m% T
o mw-sﬁﬁﬁﬁaﬁméaﬂml
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ass the necessary journal entries for the issue and redemptmn of
Jebentures in the following cases : 4

i) 15 000, 10% Debentures of ¥ 100 each issued at 10% premium,
 repayable at par.

ii)  6,00,000, 12% Debentures of < 500 each issued at 5% premmm
repayable at 10% premium. ’

TG BT & T T e % AT oavas IS WFEZIT FHifeT
) 15,000, 10% T T 100 Sedh H AT 10% M R g2, S w9ges
LS é@r 2\1 |

i)  6,00,000,-12% ®99 T 500 ¥ ® friuT 5% sfem ® e, W
10% 3 W <7 9 |

- and K are partners in a firm. Their capitals are J T 3,00,000 and K
'~ 2,00,000. During the year ended 31.3.2010 the firm earned a profit of
- 1,50,000. Assuming that the normal rate of return is 20%, calculate
he value of goodwﬂl of the firm : : 4

) By cap1ta11sat10n method and

i) By super profit method if the goodwill i1s valued at 2 years
purchase of super profits.

LT Y. TH W % GEeER § | S 9 B 8 . ST 3,00,000 9 .
2,00,000. 3I3201oﬁwwgqa§ﬁmﬁ%%15oooomwwlae
M4 §C 5 A9 F 9= R 20% B, W F =l F W Sk

) SRt fafy g qen

1) WWﬁHWWWWme mswm%ﬁﬁ@f%ﬁ%aﬂmm
fora ST @

ass the necessary journal entries for the following transactions on the
issolution of the firm of R and L after the various assets (other than
ash) and outside liabilities have been transferred to Realisation

ccount : 6
) R paid creditors ¥ 17,000 in full settlement of their clalm of
< 20,000.

i) L agreed to pay h1s wife’s loan < 70,000.

ii) Stock T 40,000 was taken over by R for T 39,000.
v)  Other assets realised ¥ 39,000.

) Expenses of realisation ¥ 4,900 were paid by L.

i) Loss on dissolution T 9,000 was divided between R and L in the
ratio of 3 : 1.

5  P.T.O.




13.

fafay weafedl (Tg & atfafs) Hmwmﬁaﬁw\w qrd ¥ wHiaRa cth%’
TTEN AR, qAr UL ﬁw%mewmm%mw
REEREIIE s

(i) IR ﬁ%zoooo%am%ar%%qﬁwmiwooomw
feram | |

(ii) qa.%raaﬁtraﬁmw%m,ooomwmﬁwﬁran
(i) 3. 9 T 40,000 & wiH A T 39,000 ¥ & foam |

(v) =1 FefEl ¥ 39,000 W T |

(v) T 4,900 sge @A W YA T T R

(vi) O W T 9,000 H T F EAMEE AR T4 TA. H 3: 1% oqua H
fohar T |

On 1.1.2007 a Public Limited Company issued 5,000, 10% Debentures
of ¥ 100 each at par which were repayable at a Premium of 10% on
31.12.2011. On the date of maturity, company decided to redeem the
above mentioned 10% Debentures as per the terms of issue, out of
profits. The Profit and Loss A/c shows a credit balance of T 6,00,000
on this date. The offer was accepted by all the Debenture-holders and
all the Debentures were redeemed.

Pass the necessary journal entries in the books of the Company only
for the redemption of Debentures, if the Company follows Sec. 117 C
of the Companies Act.

1.1.2007 ®I TH Hese fafds s 4 5,000, 10% FOWE F, ST 100
T% & 9, e geer W feE, R Wi 31.12.2011 F10% SR W
A o | WA Ry % Ressa W FE 3 ST 10% RO w1 e @
T F IgER o A ¥ wed s w fuly o ) osw T wwE & aveat

T ¥ 9W 9T T 6,00,000 O | TEE H G CRUTE-4iEl 7 @R

SRS 1m0 313 = e e e o

HE W g H %m HOGH F M H 3Mavgs sAmEn vafwer s, ofe
ST B FE i wogw 117 W w1 S R S €
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14. From the following items of Receipt & Payment A/c of Bharti Club for
the year ended 31.3.2010, prepare an Income and Expenditure

- Account : 6
' ' , 54

Salaries paid ; 8 ‘ m
Lighting expenses - L 15,000
Statidnery : : : 13,500
Subscriptions received (including ¥ 2,000 receivéd in

advance and % 8,000 for the previous year) 1,40,000
Net proceeds of‘ Refreshment Room L 91,000
Miscellaneous Expenses , 24,000
Half years interest paid on loan 2,400
Rent and Rates (including ? 1,500 pre- pald) | ’ 15,000
Lockers Rent received 6,700

Additional Information :

Subscriptions in arrears on 31.3.2010 were T 9,000 and half year’s
interest on loan was also outstanding.

31.3.2010 A WA g o % Fow W wow % FrRed WRT s
WA Y 99 =g wr R A

4
THRT = | 15,000
RO : o 13,500
Tl W g3 (% 2,000 30 a9 T soooﬁmﬁ ersf & foe wfmfe) 1,40,000
S T ¥ s Wi , 91,000
fafay = | 24,000
R Y T F N H P . 2,400
febtran @om X (X 1,500 S e wfee) | 15,000

weR TRt wftq | ' | 4 6,700

377%75%?7?777 ‘
31.3.2010 ﬁawaazwwoomwmwma&mmeﬁéaml
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15 S and T were partners in a firm sharing profits in the ratio of '7 3. The1r
- Balance Sheet on 31.3.2010 was as follows :

Amount | Amount |
Liabilities < Assets ¢
Creditors 40,000 | Bank 36,000
Bank overdraft 20,000 | Debtors 46,000 |
General Reserve 10,000 Less Provision 2,000 44,000
Capltal Accounts : Stock 50,000
S 50,000 Machinery 30,000 |
T 40,000 90,000 ,
1,60,000 1,60,000

On 1% Aprll 2010 they admitted R as a new partner for 1/4th share
in profits on the following terms :
@) R will bring ¥ 30,000 for his capital and T 10, 000 for goodwﬂl

premium.

- (ii)  20% of general reserve will be transferred to provision for bad and

doubtful debts.

(iii)) ~ Stock and Machinery will be depreciated by 40%.
(iv)  Capital accounts of S and T will be adjusted on the basis of R’s
: capital, for this purpose actual cash will be brought in or paid off

to S and T as the case may be.

Prepare Revaluation Account, Partners Capltal Accounts and Balance

Sheet of the firm.

OR

A, B and C were partners in a firm sharing profits in the ratioof 2 : 1 : 1.
Their Balance Sheet as on 31.3.2010 was as follows :

Amount Amount

Liabilities 4 Assets 4
Capital Accounts : Furniture 9,000
A 10,000 Stock 4,000
B 5,000 | Debtors 6,000
- C 5,000 20,000 | Bills Receivable 2,000
General Reserve 3,200 | Cash at Bank . 5,000
Creditors 3,000 | Cash in hand 200
| 26,200 | 26,200

67/2/2




On 30.6.2010 C died. Under the’kprovisivons of partnership deed the
executors of a deceased partner were entitled to the following :

(i) = Amount standing to the credit of partners capital account.
(ii)  Interest on capltal @ 5% p.a.

- (iii) Share of goodwill on the basis of two years purchase of the
average profits of last three years.

(iv) Share of profit in the year of his death, till the date of his death
on the bas1s of the last year’s profit.

The profits of "the ﬁrm during the prevmus three years were as

follows
Year Pr;ﬁt
2007 — 2008 5,000
2008 — 2009 | 9,000
2009 - 2010 7,000

C’s executors were paid T 1,800 on 1.7.2010 and the balance in three
equal instalments of equal intervals of 6 months startmg from
31.12.2010 with interest @ 10% per annum.

Pass necessary Journal entries, at the time of C’s death, prepare C’s
Capital Account and C’s Executor’s Account upto 31.12.2010.
T, qo A, T W N EeR ¥ qer 7:3 % Iga # @M sed 4 1 81.3.2010
= e feafa foeo f woR @ a1 |

2 | 2
EEIR | 40,000 | 9% | | 36,000
S arfufeerd 20,000 | SR 46,000 |
A T | 10,000 | ST SEEM 2,000 | 44,000
gl @ | wE 50,000
. 50,000 | Tef ' 30,000
A 40,000 | 90,000| |
i | | 160,000 | . 1,60,000

67/2/2 ’ 9 | S P.T.O.




1 31, 2010 H 3= &9 F 1/4%%@%(.@@?\@“@‘@/14@@

(1)  3m % 30,000 39 UGSt & fow @ar T 10,000 =G e & fom amom 1

() W §ET H 20% S0 RON & fou w@ue ¥ wmeia B S

(iii) W T T W 40% FT TIH TR I |

(iv) UH @ 3 & §S Tl @ R H UST 3 oMUR W yuEie fen s,
ftafq {ER W& fau @@ @ &, aﬁﬁa@a@mﬁmaﬂﬁm
ST | |

gﬂchlqw @I, Hlaqul%ﬁ@ﬁaw?s‘qﬁaﬂﬁaﬁﬁamwl

F, @ﬁmﬂ@mﬁﬁwﬁmﬁamz 1: 1%Wﬁﬁwm€%€r! 31.3.2010

E!% Seh] ‘@R’f fereor fT Yo o -

3 S

TS @M TR 9,000 |
% 10,000 4 wiF 4,000
@ 5,000 | TR 6,000
T 5000 | 20,000 |3 2,000
e e ' 3,200 | < % # L 5000
AR | 3,000 | I%s T 200
926,200 | 26,200

30.6:2010 HI 7T w1 @ & T | WK WohRg F WEURl F IER %GR
& froarest Bt e 3 o

()  IRRR F T @ w9 |

(i) U | 5% 9 a8 #t | § =W |

(ii) @mdf{\wcmWTN@@?ﬁ?H@f%ﬁHHW%@W%WWWl
(iv) I & o # 399 7og 9 fafy 7 3qer o 1 ofw, fodt of & o &

YR T |
ﬁ@ﬁ?ﬁ?‘q’ﬁff{tﬁﬂmwﬁmmm:
Skl
b T
2007 — 2008 5,000
2008 — 2009 9,000
2009 — 2010 7,000

67/2/2 | | 10




7 % foeTest W 1.7.2010 &1 T 1,800 W = oo T qd WS H O
S TR B e el ¥ 109 FffE e W 31.12.2010 ¥ YE &
[ERIEeaF |

T H G % uEE AEYE A A S, T & §o @ TR T S
froqrees &7 @I 31.12.2010 T TR SR |

16. Hema Ltd. invited applications for issuing 30,000 Equity shares of
Z 100 each at a premium of T 20 each. The amount was payable as
follows : , : ‘

On Application and Allotment T 40 (including premium ¥ 10)
- : ~ per share
On First Call X 50 (including premium ¥ 10) per share
On Second and Final Call — Balance

Applications for 75,000 shares were received. Applications for 15,000

shares were rejected and the money received from them was refunded.

Shares were allotted on pro-rata basis to the remaining applicants. All

calls were made. A who had applied for 2,000 shares failed to pay the

first call and second and final call on the shares allotted to him. B who

was allotted 1,000 shares failed to pay the second and final call. The

shares of both A and B were forfeited. The forfeited shares were re-issued

at T 160 fully paid.

Pass necessary journal entries in the books of the company for the above

transactions. ‘ , 8

OR

Shakti Ltd. invited applications for issuing 1,00,000 Equity shares ’of
Z 10 each. The amount was payable as follows : :

On Application ¥ 3 per share
On Allotment ¥ 2 per share
On First and Final Call X 5 per share

Applications were received for 2,20,000 shares. Applications for 20,000
shares were rejected and their application money was refunded. Shares
were allotted to the remaining applicants as follows :

1) Allotted 50% shares to Raman who had applied for 40,000 shares.
(i) To allot in full to Akbar who had applied for 20,000 shares.

(iii) . To allot balance yof the shares on pro-rata basis to the other
applicants. ' :

67/2/2 1 ‘ P.T.O.




Excess application money was utilized in payment of allotment and final

call. All calls were made and were duly received except the first and final

call on 600 shares allotted to an applicant in III category. His shares

were forfeited. The forfeited shares were re-issued for T 9 per share fully
paid up.

~ Pass necessary journal entries in the books of Shakti Ltd. for the
above transactions.

391 fd. 7 ¥ 100 Y% & 30,000 THaT 3 FH T 20 W Siw F NEw w it
& U STRe b BT | O 1 TEw B R Y s o

SEET TU M W T 40 (T 10 Wem wika) sy s

FO A W T 50 (X 10 e wfem) why afw

TEl qer A A W — 9 ,
75,000 379 % FIC S W W | 15,000 W F fAw emied @ w 9 Rew
T T S OAEEA h WY W S S oAy a9 amesm @
IR MR G R0 &1 qeieq fFm | w6 oo W 1 % R
2,000 3% % fAQ omded frem o o8 emEfed el W oW WA W T W
SIfeH AT HT YT B R A | W, T 1,000 0 = oemEeT fww man e,
ﬁ@ﬂﬁmmﬁmmwaﬂgwwaﬁw | & T @ A F S W Ted W
‘ﬁmwlwﬁquﬁ?ﬂ?wogﬁrwaﬁaﬁqﬁHc;rlg:r‘lrmw?ﬁ‘
fem e |
E@?Eéqﬁ%fm'ohwa”raﬁ g«iobfffdﬂqwcﬂ umwﬂ[maﬁﬁql

srgan

‘%‘Iﬁﬁﬁ'ff ﬁ?lom% 1,00,000 e Mu%ww%mg e 3B
WIWWWH’@:{W@WW |

EeT W T 3 3w "

T W T 2 W 3w

TH TqOr A" IrE W T 5 9 efw
2,20,000 3i¥ & AU ST W §T | 20,000 3 & fow WA W T W
e T 3 e U o s @ T | 9w emees @ S S ameed fae
YER 9 for T |
G TH F 50% A H 3 ﬁFqT T, 39 40,000 30 F AT emEen e

a7
(i) o ® W oTAfT ofvil ® e fEE WA, SER 20,000 S F fw
| e R o |
(iii) ﬁqmﬁﬁwﬁﬁﬁwmwquqwﬁwmdqﬁﬁmwx
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WWWWWWWHWWWW%W%W
foar | o A G oS T aer I 9 % ue oTees o) dew,
600 3731 1 e fohar a1 o1, ©F W & 7 | 39 &S I vuAw qun oy
qmmﬂg*mmqﬁlwl!sH%WﬁWWWW!WWﬂW
F T 9 9 v of wew g frifa w R mm o

SR oA % e v R 9 T § oTvEs Gsemen S SR |

PART B

C (Financial Statements Analysis)
R LN R |
(ferdta oot 1 fereto)

17. State any two objectives of pre'paring a ‘Cash Flow Statement’. - 1
Twe TR foaer s % FE  SRe w6 | '

18. State the interest of trade unions in the analysis of financial
statements. 1

foxig ot & faveivor § sfte 9@ % i @ 9aET |

19. State with reason whether the withdrawal of cash from bank for ofﬁcé,
~ use will result into inflow, outflow or no flow of cash. 1

FRU Uled wOEC 5 R A% T FEE T S fw A% % feen ¥ Jws
H AR, R Y9 Wﬁémﬁﬁﬁm |

20. State under which major headings the following items Will&be shown in
the Balance Sheet of a company as per Schedule VI Part I of the
Companies Act 1956 :

Leasehold property, Livestock, Interest paid out of capital during .
construction, Public Deposits, Provision for Contingencies, Investments
in Government Securities. 3

Waﬁ:ﬁml%saﬁxﬁﬁWmI%wmﬁ%ﬁaﬁrWﬁ
fretfafad ¢ B-feT g divel % sl qufd smd o

vE W, W, I # R s fmin s A, 59 e &
faT wmem, Wﬁqﬁﬂmﬁﬁﬁ?ﬁm
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21. Calculate Current Ratio of a company from the following information :

Stock Turnover Ratio : 4 times

Stock in the beginning was T 20,000 less than stock at the end.
Sales T 6,00,000 : :

Gross Profit Ratio 25%

Current Liabilities ¥ 60,000

Quick Ratio 0-75 : 1

| .mwﬁ,@m%mwﬁﬁmm:

Wi oEd I 4 T
s ©fe, 3" % ¥ T 20,000 A 41 |

 foT T 6,00,000

T A U 25%
=1 egare T 60,000
LA U 075 : 1

29. With the help of the following information obtained from the books of
Raghu Ltd. prepare a Comparative Income Statement for the year

ended 31.3.2010 :

j 31.3.2009 31.3.2010
Sales ¥ 17,00,000 < 20,00,000
Cost of goods sold 60% of sales 70% of sales
| Operating expenses 10% of gross profit 7% of gross profit
Other income T 14,000 T 20,000
Income Tax 50% 50%

% ¥ fo T g I fas aRY

qﬁ.ﬁwﬁ@mﬁwﬁ@ﬁaﬁaﬁﬁmﬁm.&zomﬁwg

67/2/2

31.3.2009 31.3.2010
CE®) Z 17,00,000 % 20,00,000
I 7T A/ B AT fasa &1 60% fowRa &1 70%
S 4 el o & 10% THd o @ 7%
3 A T 14,000 Z 20,000
3T 50% 50%

14




23. From the following Balance Sheets of Varun Ltd. as on 31.3.2009 and

31.3.2010, prepare a ‘Cash Flow Statement’ : 6
31.3.2009 | 31.3.2010 31.3.2009 | 31.3.2010
Liabilities T T | Assets £4 T
Creditors 50,000 45,000 | Cash 35,000 75,000
Bills Payable 20,000 35,000 | Debtors 98,000 90,000
Bank Loan : il 20,000 | Stock 87,000 | 1,20,000 |
Profit and Loss A/c : 60,000 75,000 | Long term 15,000 10,000
, : | investments
Share Capital 1,25,000 | 1,50,000 | Fixed assets 20,000 30,000
2,55,000 | 3,25,000 - 2,55,000 | 3,25,000
Additional Information :
) During the year ¥ 15,000 depreciation was charged on fixed
assets.
(i)  Company has paid ¥ 12,000 interim dividend during the year.
31.3.2009 T 31.3.2010 & =ev fa. & ffafea feft Gl @ Vs w@@
faeer e
~ 131.3.2009| 31.3.2010| 31.3.2009 | 31.3.2010
EREI 3 T | wwfm 3 T
AR 50,000 | 45,000|3%S | 35000| 75,000
3 fort 90,000 | 35,000 | ¥R £ 98,000| 90,000
d& T ’ e 20,000 | 1% 87,000 | 1,20,000
-1 T 60,000 | 75,000 | €@ 8w | 15,000 | 10,000
3T it 1,25,000 | 1,50,000 | %@ gmREr | 20,000 | 30,000
| 2,55,000 | 3,25,000 2,55,000 | 3,25,000
AR G ¢
() T8 ¥ =R geied W T 15,000 qeEe e T
Gi) @ Y A % SR T 12,000 F SR AN G fHE G0 R |
67/2/2 ‘ 15 P.T.O.




17.
18.
19.
20.
21.
22,

23.

PART C
(Computerised Accounting)
a0 T '
(fYeRfe @)

What are Sequential codes ?
STt fremmaferat o1 § 2

What is Normalisation ?

=G 327 & 2

What is the function of ‘Table’ in DBMS ?
SERCRERERCRRIU ISR E

. What is a join line in DBMS ?
. STy, ¥ Sie W@ 5 e § 2

List the advantages of DBMS.
SRTATH. & T H GGG HIC |

What are the limitations of Computerised Accounting System ?
A giR Jomett g1 § 2

Calculate the formula on Excel for the following :
Dearness Alldwance | ' ,

45% on basic pay upto ¥ 15,000, minimum % 5,000
35% on basic pay above T 15,000, minimum % 7,500

- House Rent Allowance

Upto basic pay of T 10,000 : ¥ 3,500
< 10,001 —X 15,000 basic pay : T7,500
Above T 15,000 basic pay : ¥10,000

City Compensatory Allowance :

10% of basic pay subject to a minimum of X 1,500
frfafea & fAv ed | tblim Eb‘T T ﬁ%rq
HEE

Z 15000@%%%?@45% =am ¥ 5,000

, %15000@#%%®%a=rm35% =" T 7,500

e fRTET oW ;
¥ 10,000 7% % 7 Ia4 & faw : T 3,500
¥ 10,001 — T 15,000 9% & ¥al 304 & fag : T 7,500

- Z15,000 § s & o 909 & AT : ¥ 10,000

TR gfagfd W=
el e F 10%, <A T 1,500

67/2/2 : 16

1,650




